[Effici

ency vs vertpos |

~ 0.7

20.09
4
20.08

(8]
§0.07

)
£0.06
0.05
0.04
0.03
0.02
0.01

Ratio

1.0

o
©
a

SR R AR R RRN AR AR RRRRN RN LA JRARAN LRRRNRARR

Efficienq ——

[EnN
2
N
=
N
[y

OPU_TewDETAauItS
SRENENRe s
8PU’NEW =
OPU_NEW,

@D D

a3

(]

ecPlLess?
ecPless3

ecPlLess]1
EecPLessA

N 0] : : : :
e e
n N N N N N
2 0.08----- SRRRREEL EREREEED RREEEERLELEREEE AR
> : : : : :
Q : : : : :
g 007 R o
2 0.06E------ P Jo e S
e AT A T
0.05F------ S SR R A P
0.04----- * """" B frooees Preenees
1 N R S S S
L e
E g SRR, 1 TEIS
0.01 i : : #‘h
e

Ratio

[y

O g | e

|||lll|1§11111|||
: ||“”n5””|||| :

o

13
oS
S

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.1

>
2 0.09

£

50.08
20.07
3
20.06,
@
(&}
£0.05
()
0.04
0.03
0.02
0.01

-20 -10 0 10 20 30

._.
T

Sim. PV z (cm)




	Contents
	Page 1


